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SECTIONB
Answer ALL questions. Write your answers in the spaces provided.
Olivia plans to drive from Birmingham to Manchester non-stop.

The distance is 87 miles.
She has allowed 1.5 hours for the journey.

[
(@) What is the average speed she must drive to complete the journey in
1.5 hours?
(2)
mph
-
[
(b) Use a reverse calculation to show a check of your answer.
(1)
- J

(Total for Question 1 is 3 marks)
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2 Brianis a sports reporter.

Team A played 30 rugby matches.

The table shows information about the number of tries team A scored in
these matches.

\’\: \
> <

DONOTWRITEINTHISAREA

\z(‘\ number of tries number of matches
° :
S
i%\ 2 11
SIS total 30
4 )
(@) Work out the mean number of tries team A scored per match.
(2)
& tries
oot
ga - J
&
i;i& Brian wants to compare two teams.
He knows
« team A had a range of 3 tries
« team B had a range of 4 tries.
< 4 )
T (b) Which team is more consistent scoring tries?
% Explain why you think this.
.
t% \
9 3 \ y,
=
5/ 3 (Total for Question 2 is 3 marks)
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3 The head teacher at a school is organising for some year 7 and some year 8 pupils to
go on a school trip.

72 people in total will go on the school trip.

There will be 1 adult to every 5 pupils.
The ratio of the number of year 7 pupils to the number of year 8 pupils will be 3 : 1

-

How many adults, year 7 pupils and year 8 pupils will go on the trip?

(4)

83 ’0
SR

%

b8
SRR

adults
year 7 pupils Q
8
, &
year 8 pupils s
- J

(Total for Question 3 is 4 marks)
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4 Josh drives a lorry.
He is planning his route.

On the planned route there is a low bridge.
The maximum height of a lorry allowed under the bridge is 14 feet.

Josh knows the lorry is 4.2m high.

Josh uses 1 foot = 0.3048 m.

-
(@) Will the lorry be allowed under the bridge?
Show why you think this.

(2)

CaNGTWRE NS RE

4 N
(b) Use a reverse calculation to show a check of your answer.

(1)

(Total for Question 4 is 3 marks)
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5 Yasmine invests £4000

For the first 2 years she receives annual compound interest of 3%
In year three she receives annual compound interest of 2.5%

At the end of year three Yasmine wants to buy a car for £4500

She will use all of the investment and interest towards the cost of the car.

Work out how much more money Yasmine needs to buy the car.
You must show your working

(5)
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(Total for Question 5 is 5 marks)
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(@) Write down the coordinates of point A.
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(b) Mark with a cross the point C on the grid so that angle ACB is a right angle.
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( )
(c) Write down the sum of the interior angles of a triangle.

(Total for Question 6 is 3 marks)
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( )

7 Carlos records the number of tweets his company posts every year on social media.

year 2014 2015 2016 2017 2018 2019

number of tweets 452 325 744 1022 712 750

4 )
(a) Find the median number of tweets.

(2)

\§ J

In 2019, 6% of the tweets were about job vacancies.

( )
(b) How many of the tweets in 2019 were about job vacancies?

(2)

(Total for Question 7 is 4 marks)
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8 Myra works as a volunteer at her local pony club.

She is going to cover the front of the stables with paint.

The diagram shows a sketch of the front of the stables.

4 feet

28 feet

Myra will buy the paint she needs.
1 tin of paint

. covers 7m?
o costs £6.45

She uses this rule.

Area in square feet + 10.764 = area in square metres.

5 feet

-
Work out the total cost of the tins of paint Myra will buy

(6)
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(Total for Question 8 is 6 marks)
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9 Leona works in a sock shop.

The scatter diagram shows the number of pairs of thermal socks sold and the average
temperature that month.

Sales of thermal socks

60
50 X

Q\"
7\

40

Number of
pairs sold

30

L\ V4
/\

L\ V4
/\

20

X

10

0 2 4 6 8 10 12
Average temperature °C

(" )
(a) Draw a line of best fit onto the scatter diagram.

\§ J

(b) Describe the correlation between the number of pairs of thermal socks
sold and the temperature.

\§ J

Next month the predicted average temperature is 5°C
Leona needs to estimate how many pairs of thermal socks she will sell.

4 )
(c) Estimate the number of pairs of thermal socks she will sell next month.
(1)

(Total for Question 9 is 3 marks)
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10 Chris has moved to a new flat.
The grid shows a plan of the kitchen.

doorway
N

doorway

window

Key

— Wa”s

cupboards

1 square length on the grid represents 0.3 m in the kitchen
\_ J

Chris needs to put a fridge and a table in the kitchen.

The fridge will need a rectangular space 90 cm by 60 cm with the longest side against
a wall but not against a window.

The table will need a rectangular space 60 cm by 75cm and to be at least 60 cm away
from the doorways, the cupboards, the fridge and not against a wall.

Draw the space for the fridge and the space for the table on the grid for Chris.
Remember to label the items.

(Total for Question 10 is 3 marks)
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( )

11 Nigel is the secretary of a football club.

He pays three match officials each week.

He has this information for the payments he made for the last 5 weeks.

Week 1 2 3 4 5

Payment made (£) 62.94 47.12 92.37 74.80 81.45

The table shows the match fees and expenses the officials will receive in week 6

VAUV SIHLNI 3419 10N 03

official fee expenses
referee £36 46 miles at 30p per mile \
assistant 1 £27 14 miles at 30p per mile
assistant 2 £27 23 miles at 30p per mile 5SS
‘g
The total payment for each official is made up of a match fee and expenses. &
Nigel pays 67% of the total payments for these three match officials.
s
Nigel thinks the payment he makes in week 6 is more than the median payment he 58 e
made for the previous 5 weeks. ot s
SIS
N |2
Is Nigel correct? o 5
Show why you think this. SR
(5) 8
o
- J
\ )

14
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(Total for Question 11 is 5 marks)

. J

VD 00 O O R0 .
Turn over »
P 6 8 2 0 3. A0 1 5 2 0 urnove




( )

12 Tammy wants to make chocolate sweets.

>§/ X

The sweets will be solid chocolate in the shape of a sphere.

Each sweet will have a radius of 2cm. §\\

PN

Tammy will melt chocolate blocks to make the sweets. 3\\

Each chocolate block is a cuboid 19cm by 14cm by 0.75cm. gt

SIS

She has this formula \:\-:"33%
s

Volume of a sphere = g nr %f

> oS

where r = radius S

n=3.14 ii\;/_>2.:Q

Tammy wants to make 45 sweets.
She thinks 7 blocks of chocolate are enough to make 45 sweets.

4 )
Is Tammy correct?

Show why you think this.

(6)

16
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(Total for Question 12 is 6 marks)
TOTAL FOR SECTION B IS 48 MARKS
TOTAL FOR PAPER IS 64 MARKS
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